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QUESTION 1

Flight Recorder can be used on the Virtual Services Platform (VSP) 9000 to help Identify problems. When can a Flight
Recorder snapshot be taken?

A. when the VSP has to be booted into the diagnostic mode
B. only after a warning message is logged

C. anytime

D. every hour

Correct Answer: B

QUESTION 2

Which statement describes a characteristic of Routed Split Multilink Trunking (RSMLT) configuration?
A. RSMLT is only configured on edge SMLT connections.

B. RSMLT uses priority values to distinguish between the primary and backup routers.

C. RSMLT routers are implemented with the VRF-Lite routers.

D. RSMLT is always used in conjunction with routing protocols and SMLT connections.

Correct Answer: D

QUESTION 3

A customer is concerned about the security of their network. They need to understand the OSPF authentication options
when accepting route updates in OSPF. Currently, their Virtual Services Platform (VSP) 9000 is configured to require no
authentication when receiving the OSPF updates.

Which two supported authentication types would provide security on the VSP 9000 for OSPF updates? (Choose two.)
A. MD5

B. 3DES

C. RADIUS

D. Simple Password

Correct Answer: AD

QUESTION 4
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Refer to the exhibit.

o 8600 Core 1 Console

A technician has just enabled SLPP on both core switches, and is reviewing the network diagram and console output
from the core 1 Ethernet Routing Switch (ERS) 8000.

Given the output shown in the exhibit, what is the configuration error on the edge switch?
A. The edge switch spanning-tree has not been configured.

B. The edge switch access port rate limiting has not been configured.

C. The edge MLT has not been configured.

D. The edge VLANs have not been configured.

Correct Answer: C

QUESTION 5

Refer to the exhibit.
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The EDM is used to see the configured routes within your system.

Based on the information in the exhibit, what is the problem with the route to the 10.0.0.0 network?
A. The route has a metric of 1.

B. The route is inactive.

C. The route is not configured.

D. The route has no next hop.

Correct Answer: B
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